/\‘ AIROLITE O CH01MD
The look that works.™ Channel Installation
with VCD-40 Damper

Installation, Operation and Maintenance Manual

Please read and save these instructions for future reference. Read carefully before attempting to assemble, install,

operate or maintain the product described. Protect yourself and others by observing all safety information. Failure

to comply with these instructions will result in voiding of the product warranty and may result in personal injury
kand/or property damage.

~

J

Florida Product Approval No: FL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

W

SCH601MD Channel Installation with Damper -



Maximum Size and Installation Information

Florida Product Approval No: FLL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

Model SCH601MD with VCD-40 is a Miami-Dade Qualified and Florida Product Approved louver and must be installed

in accordance with the installation instructions shown herein. Model SCH601MD with VCD-40 is qualified for installation
within concrete/masonry, steel stud, structural steel or wood framed building conditions. Model SCH601MD with VCD-40

is structurally calculated to withstand positive and negative wind-loads up to 150 PSF. The maximum single section rough
opening width is 36.75 in. The maximum single section rough opening height is 144.50 in. While the maximum rough opening
height is limited to 144.50 in., the rough opening width is limited to 1,000 in. as multiple sections may be installed side by side

in accordance with installation instructions.

SINGLE SECTION

@

6.4mm;

E
i

MULTIPLE SECTIONS

=

2 004

I B 7
(6 dmm]

E% '§§
£ 22
= =
. .
z o z o

z Q &g z 9 3?%

] 2 o3 ] 2 o3

- & R ) & R

EQ o= £G T2

EQ €3 EY T3

o 5§ as 5§

52 5 52 B

oz 88 ng 838

WS WS o

: i $p ¥

—5 2 ?z —5 g 'E‘z
a2 a8
= =
=3 =3
= =
Y o
N é("§
8 ®
L = L

[ 0|

o || o6
324" 324" 324" 329" 3204 30,"
= [819.2mm] [819.2mm] [819.2mm] [819.2mm] [819.2mm] [819.2mm] =

E £
s . .
st; 320 >t§.
©, =+ [819.2mm] =1 ©,
DAMPER DIM. DAMPER DIM. DAMPER DIM. DAMPER DIM. DAMPER DIM. DAMPER DIM. DAMPER DIM.
A 36" [914.4mm] A Y 36" [914.4mm] 36" [914.4mm] 36" [914.4mm] 36" [914.4mm] 36" [914.4mm] 36" [914.4mm] YA
[Gjm 1 MAX. ACTUAL- [Gjm ] [sjm ] MAX. ACTUAL MAX. ACTUAL MAX. ACTUAL MAX. ACTUAL MAX. ACTUAL MAX. ACTUAL- [631“ ]
-4mm. LOUVER DIM. -4mm. -4mm. LOUVER DIM. LOUVER DIM. LOUVER DIM. LOUVER DIM. LOUVER DIM. LOUVER DIM -4mm.

36%6" [927.1mm] [o_
LVR OPNG DIM.

Minimum Rough
Opening Size

12in. Wx13.125in. H

216" [5499.1mm]
LOUVER OPENING DIMENSION

Maximum Single Section
Rough Opening Size

36.75 in. W x 144.50 in. H

Building Condition/Substrate Limitations
e All metal stud substrate should be min. 10 Ga. FY= 36 KSI

e All structural steel substrate shall be min. 0.125 in. thick FY= 36 KSI
e All concrete substrate shall be min. 4000 PSI (2000 PSI allowed with SDR)
e Concrete masonry shall be ASTM C90, Type Il, 2000 PSI, grout-filled

m SCH601MD Channel Installation with Damper



Single Section

( : ) HEAD DETAIL

le— 3" [.248]

Florida Product Approval No: FLL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

.081 [2.1mm] EXTRUDED
ALUM. DAMPER FRAME

COMPRESSIBLE STAINLESS

STEEL JAMB SEAL
~=——— OPTIONAL BIRD OR INSECT SCREEN

.081 [2.1mm] EXTRUDED
ALUM. DAMPER BLADE

< : ) SILL_DETAIL

OPTIONAL BIRD OR
INSECT SCREEN

.081 [2.1mm] EXTRUDED__
ALUM. DAMPER FRAME

#14x1"[25.1mm] HWH
SS SCREW (6" 0.C.)

pay
ks" [152.4mm] =

T T—— DA

MPER DRIVE LINKAGE

°"©

[==————DAMPER DIMENSION

[e——————— LOUVER OPENING DIMENSION ———————— |

i' [.250] —~|[«————— ACTUAL LOUVER DIMENSION

NONCOMPRESSIBLE DEAD LOAD

Ry

STANDARD MANUAL
QUADRANT ACTUATOR

| SILICONE DAMPER BLADE SEAL

\.063" [1.60mm] ALUM. SILL PAN

SHIM, SEALANT, AND

BACKER ROD AS REQ'D (NOT BY GREENHECK)

1%"x 1%” x %"[3.2mm]

ALUM. ANGLE @ JAMB

ALT. ORIENTATION (CAUTION,
CHECK BOLT CLEARANCE)

SEALANT & BACKER ROD
(NOT BY AIROLITE)

£ [.375] —

STANDARD MANUAL
QUADRANT ACTUATOR

DAMPER DRIVE
LINKAGE

REF. FASTENER CHART
(NOT BY AIROLITE)

ALT. ORIENTATION (CAUTION:
NOTE BOLT CLEARANCE)

0.125" [3.2mm]

.063" [1.60mm] ALUM. SILL F’AN/

DAMPER DIMENSION

[e————————— ACTUAL LOUVER DIMENSION ———M8M8M8 M8 =

[=——— LOUVER OPENING DIMENSION ——————— =

EXTRUDED ALUM. JAMB

le—§" [.375]

( ) JAMB DETAIL

SCH601MD Channel Installation with Damper m



Florida Product Approval No: FLL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

Multiple Sections
Height < 96 12

REFERENCE FASTENER CHART & 6X6 ANGLE

] / DIAGRAM (NOT BY AIROLITE)
HEAD DETAIL ! %"-20 x 1%” HH SS CS
( :)(opgch HEIGHT <96%) & NUT 6 SETS/END (SHIP

LOOSE—FIELD INSTALLED)

— 3" [.248]

081 [2.1mm] EXTRUDED

/ALUM. DAMPER FRAME

COMPRESSIBLE STAINLESS
STEEL JAMB SEAL

A‘

OPTIONAL BIRD OR INSECT SCREEN
~ 081 [2.1mm] EXTRUDED
A ALUM. DAMPER BLADE
—-| 6" [152.4mm] DAMPER DRIVE LINKAGE

/ STANDARD MANUAL
g QUADRANT ACTUATOR
° ©

SILICONE DAMPER BLADE SEAL

[~~—— DAMPER DIMENSION

[==—— LOUVER OPENING DIMENSION ——=

\6"x6"x %" [12.7mm] x 13.500" LONG ALUM
ANGLE, (SHIP LOOSE — FIELD INSTALLED) IF
REQ'D: SUBSTRATE TYPE/DEPTH DEPENDANT.

SILL DETAIL
(OPENING HEIGHT <96%”")

i” [.250] —={(==—— ACTUAL LOUVER DIMENSION

O REFERENCE FASTENER CHART & 6X6 ANGLE
DIAGRAM (NOT BY AIROLITE)

NONCOMPRESSIBLE DEAD LOAD SHIM, SEALANT, AND
BACKER ROD AS REQ'D (NOT BY AIROLITE)

STANDARD MAN UAL_\
QUADRANT ACTUATOR

i N 47x1.584"x ¥¢"[4.8mm] ALUM. STRUCTURAL
%"=20 x 1% HH SS CS 7
& NUT 6 SErs/END (SHIP — T} CHANNELS (SHIP LOOSE—FIELD INSTALLED)
LOOSE—FIELD INSTALLED)\ [ 2"x5%" %" [6.4mm] ALUM.
JAMB ANGLE @ MULLION
ALUMINUM END CAP N | E
—20x1%” SS HH CAP
SCREW g NUT (18" 0.c.)
| o o |
= — — 4 — ___ll_‘l._ll_.
o — ] 1= r— -_m _-.0_ — o

REFERENCE FASTENER CHART
(NOT BY AIROLITE)

#14x1%” HWH SS
SCREW (6” 0.C.)

063" [1 GOmm]/ Y [5&’[‘)“&“] EXTR. SEALANT AND BACKER ROD AS
UM, L P REQ'D (NOT BY AIROLITE)
3 [.250] —=
~— ACTUAL LOUVER DIMENSION —= ACTUAL LOUVER DIMENSION ——s=—

LOUVER OPENING DIMENSION

H2 MULLION DETAIL
(OPENING HEIGHT <96%7)

m SCH601MD Channel Installation with Damper



Florida Product Approval No: FLL10093

Miami-Dade NOA No.: 17-0919.07

Maximum Wind-load: 150 PSF
Multiple Sections
Height > 96 72 <144 7

SEALANT AND BACKER ROD AS
REQ'D (NOT BY AIROLITE)

REFERENCE FASTENER CHART & 6X6 ANGLE

/ DIAGRAM (NOT BY AIROLITE)
6"x6™x %" [12.7mm] x 21.500" LONG ALUM

ANGLE, (SHIP LOOSE — FIELD INSTALLED) IF
REQ'D: SUBSTRATE TYPE/DEPTH DEPENDANT.

<1

HEAD DETAIL
(OPENING HEIGHT >96%”
44%7)

.081 [2.1mm] EXTRUDED

=" ALUM. DAMPER FRAME

COMPRESSIBLE STAINLESS

 STEEL JAMB SEAL

#14 x 1%" HWH SS TEK SCREW (18" 0.C.)

[~ OPTIONAL BIRD OR INSECT SCREEN

faN Ll .081 [2.1mm] EXTRUDED
ALUM. DAMPER BLADE

——| 6" [152.4mm] DAMPER DRIVE LINKAGE

4‘

[ f5\

_o_°_©—-‘——\—/SILICONE DAMPER BLADE SEAL
STANDARD MANUAL
N QUADRANT ACTUATOR

1 g 37x6"xHe” [7.9mm] STEEL (A36) MULLION SUPPORT
o T~ TUBE ASSY, 1/MULLION SHIP LOOSE—FIELD INSTALLED

1%” x 6” x % " [3.2mm] ALUM.
JAMB ANGLE @ MULLION

STEEL END CAP

%"-20 x 1%" HH SS CS

& NUT 8 SETS/END (SHIP
- LOOSE—FIELD INSTALLED)
REFERENCE FASTENER CHART & 6X6 ANGLE
DIAGRAM (NOT BY AIROLITE)

3

ACTUAL LOUVER DIMENSION ——= <—i” [.250]

[~——DAMPER DIMENSION

[=——LOUVER OPENING DIMENSION ———={

SILL_DETAIL
(OPENING HEIGHT >96%"
<144%7)

¥ [.250] —]

NONCOMPRESSIBLE DEAD LOAD SHIM, SEALANT, AND
BACKER ROD AS REQ'D (NOT BY AIROLITE)

STANDARD MANUAL

QUADRANT. ACTUATOR 3"x6"Hs" [7.9mm] STEEL (A36) MULLION SUPPORT TUBE

ASSY, 1/MULLION (SHIP LOOSE—FIELD INSTALLED)
i #14 x 1%" HWH SS TEK SCREW (18" 0.C.)

SHIMS AS REQ'D (BY OTHERS)

STEEL END CAP

REFERENCE FASTENER CHART & 6X6 ANGLE
DIAGRAM (NOT BY AIROLITE)

#14x1%” HWH SS
SCREW (6” 0.C.)

.081 [2.1mm] EXTRUDED
ALUM. DAMPER BLADE

DAMPER DRIVE LINKAGE

/ .081” [2.1mm] EXTR.
.063” [1.60mm] ALUM. BLADE
ALUM. SILL PAN

~=—— ACTUAL LOUVER DIMENSION ACTUAL LOUVER DIMENSION ———=
LOUVER OPENING DIMENSION

M MULLION DETAIL
(OPENING HEIGHT >96%"
<144%")

SEALANT & BACKER ROD AS
REQ’'D (NOT BY AIROLITE)

SCH601MD Channel Installation with Damper m



Single Section

>

STANDARD MANUAL QUADRANT
ACTUATOR (1/DAMPER SECTION)

N

Florida Product Approval No: FLL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

Structure Depth

CMU / Concrete Substrate
® Min. structure depth 6.866 in.
* Max. structure depth infinite

Steel Stud / Structural Steel Substrate

e Min. structure depth 5.866 in.
* Max. structure depth infinite

OPTIONAL PERIMETER FLANGE

#14x17[25.1mm] HWH SS SCREW (6" 0.C.)

%"x 1%"x %'[3.2mm]
ALUM. ANGLE @ JAMB

VCD—40 DAMPER

OPTIONAL BIRD OR
INSECT SCREEN IN

REMOVABLE ALUMINUM

FRAME

FASTENER SCHEDULE (FIELD INSTALLED - NOT BY AIROLITE)
CONCRETE | cMu | STEEL | MIN. FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS
JAMB PERIMETER ANGLE FASTNER DIAMETER # RQD. CENTERS EDGE EMBED.*
X 2KSI SCOTS TAPCON / TAPCON 1/4 VARIES 4.750 1.500 1.750
X 4KSI SCOTS TAPCON / TAPCON 1/4 VARIES 6.000 1.500 1.750
X 1.5KSI SCOTS TAPCON / TAPCON 1/4 VARIES 3.000 1.500 1.750
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 VARIES 6.000 0.500 0.125
MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER # RQD. CENTERS EDGE EMBED.*
X 2KSI SCOTS TAPCON / TAPCON 1/4 9/END 2.000 1.500 1.625
X 4KSI SCOTS TAPCON / TAPCON 1/4 8/END 2.000 1.500 1.625
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 8/END 1.000 0.500 0.125
MULLION ANGLE MOUNT FASTENER, HEIGHT <=144 DIAMETER # RQD. CENTERS EDGE EMBED.* CENTER
X 2KSI SCOTS TAPCON / TAPCON 1/4 32/ANG. 2.000 1.500 1.750 3.375
X 4KslI SCOTS TAPCON / TAPCON 1/4 27/ANG. 2.000 1.500 1.750 3.375
X 1.5KSI SCOTS TAPCON / TAPCON 1/4 32/ANG. 2.000 1.500 1.750 3.375
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 16/ANG. 1.000 0.500 0.125 3.000
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 11/ANG. 1.000 0.500 0.188 3.000
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 16/ANG. 1.000 0.500 0.188 3.766
MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER # RQD. CENTERS EDGE EMBED.*
X 2KSI SCOTS TAPCON / TAPCON 1/4 6/CAP 2.000 1.500 1.750
X 4KSlI SCOTS TAPCON / TAPCON 1/4 6/CAP 2.000 1.500 1.750
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 3/CAP 1.000 0.500 0.125
MULLION ANGLE MOUNT FASTENER, HEIGHT <=96 DIAMETER # RQD. CENTERS EDGE EMBED.* CENTER
X 2KSI SCOTS TAPCON / TAPCON 1/4 11/ANG. 2.000 1.500 1.750 3.375
X 4KSI SCOTS TAPCON / TAPCON 1/4 9/ANG. 2.000 1.500 1.750 3.375
X 1.5KSI SCOTS TAPCON / TAPCON 1/4 11/ANG. 2.000 1.500 1.750 3.375
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 7/ANG. 1.000 0.500 0.125 3.766
X 65KSI Fy BOLT/NUT OR TAPPING SCREW 1/4 6/ANG. 1.000 0.500 0.125 3.000

m SCH601MD Channel Installation with Damper




Multiple Sections
Height < 96 12

Florida Product Approval No: FLL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

CMU Substrate
* Min. structure depth 6.866 in.
® Max. structure depth 12.275 in.

Structure Depth

Concrete Substrate
® Min. structure depth 6.866 in.
® Max. structure depth infinite

Steel Stud / Structural Steel Substrate
® Min. structure depth 5.866 in.
® Max. structure depth infinite

HEAD DETAIL: MULLION DIRECT MOQUNT: FOR SUBSTRATES
WHERE MINIMUM FASTENER EDGE DISTANCE CAN BE
ACHIEVED BY USE OF HOLES IN THE MULLION END CAP.
(HEIGHT <96%")

REFERENCE FASTENER CHART & 6X6
ANGLE DIAGRAM (NOT BY AIROLITE)

J"—20 x 1" HH SS CS & NUT 6
SETS/END (SHIPLOOSE—FIELD INSTALLED)

ALUMINUM END CAP

4"x1.584"x ¥g"[4.Bmm] ALUM.
STRUCTURAL CHANNELS
(SHIP LOOSE—FIELD INSTALLED)

6"x6"x %" [12.7mm] x 13.500" LONG ALUM
ANGLE, (SHIP LOOSE — FIELD INSTALLED) IF
REQ’D: SUBSTRATE TYPE/DEPTH DEPENDANT.

STANDARD MANUAL QUADRANT
ACTUATOR (1/DAMPER SECTION)

.063” [1.60mm)]
ALUM. SILL PAN

SILL DETAIL: MULLION ANGLE MOUNT: FOR SUBSTRATES WHERE
MIN. FASTENER EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP.(HEIGHT <96%")

%" 1%"x %"[3.2mm]
ALUM. ANGLE @ JAMB

/ VCD—40 DAMPER

Yi—20x1%” SS HH CAP
SCREW & NUT (18” 0.C.)

2"x5"x %" [6.4mm] ALUM.
JAMB ANGLE @ MULLION

OPTIONAL BIRD OR
INSECT SCREEN IN
REMOVABLE ALUMINUM
FRAME

6X6 CONDITION ANGLE: CMU
* * USE SOLID HOLES ONLY * *

6X6 CONDITION ANGLE: STEEL
* * USE SOLID HOLES ONLY * *

%" TAPCONS J" BOLTS/NUTS

13.500 13.500
L/CUTLENGTH L/CUTLENGTH

6x6 ANGLE DIAGRAM:
(OPENING HEIGHT <96 %)

6X6 CONDITION ANGLE: CONCRETE
* * USE SOLID HOLES ONLY * *

2ksi: %" TAPCONS ’

13.500
CUTLENGTH

L

4ksi: 1" TA

13.500
CUTLENGTH

-

SCH601MD Channel Installation with Damper



Multiple Sections

Florida Product Approval No: FLL10093
Miami-Dade NOA No.: 17-0919.07
Maximum Wind-load: 150 PSF

Height > 96 2 < 144 >

CMU Substrate
e Min. structure depth 6.866 in.
e Max. structure depth 15.000 in.

Structure Depth

Concrete Substrate
e Min. structure depth 6.866 in.
e Max. structure depth infinite

Steel Stud / Structural Steel Substrate
e Min. structure depth 5.866 in.
e Max. structure depth infinite

HEAD DETAIL: MULLION DIRECT MOUNT: FOR SUBSTRATES
WHERE MINIMUM FASTENER EDGE DISTANCE CAN BE
ACHIEVED BY USE OF HOLES IN THE MULLION END CAP.

(HEIGHT >96%" & <144%") 196"x 1%"x %’[3.2mm]
ALUM. ANGLE @ JAMB
%"-20 x 1% HH SS CS
REFERENCE FASTENER CHART & 6X6 ANGLE & NUT 8 SETS/END (SHIP
DIAGRAM (NOT BY AIROLITE) LOOSE—FIELD INSTALLED)

»/
/

STEEL END CAP

(18" 0.C.) SHIP

STEEL END CAP

>96%" & <144%")

%" x 6" x %" [3.2mm] ALUM.
JAMB ANGLE @ MULLION
SUPPORT—SHOP ATTACHED

6"x6"x %" [12.7mm] x 21.500" LONG ALUM
ANGLE, (SHIP LOOSE — FIELD INSTALLED) IF
REQ'D: SUBSTRATE TYPE/DEPTH DEPENDANT.

STANDARD MANUAL QUADRANT
ACTUATOR (1/DAMPER SECTION)

.063” [1.60mm]
ALUM. SILL PAN

SILL DETAIL: MULLION ANGLE MOUNT: FOR SUBSTRATES WHERE
MIN. FASTENER EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP.(HT >96%" & <144%")

VCD—40 DAMPER

%" x 1%" [38.1mm] HWH SS SCREWS

LOOSE—FIELD INSTALLED

3"x6"x %s” [7.9mm] STEEL (A36)
MULLION SUPPORT TUBE ASSY, 1
PER MULLION SHIP LOOSE-FIELD
INSTALLED (OPENING HEIGHT

OPTIONAL BIRD OR
INSECT SCREEN IN
REMOVABLE ALUMINUM
FRAME

6X6 CONDITION ANGLE: STEEL
* * USE SOLID HOLES ONLY * *

6X6 CONDITION ANGLE: CMU
* * USE SOLID HOLES ONLY * *

6X6 CONDITION ANGLE: CONCRETE
* * USE SOLID HOLES ONLY * *

J2" BOLTS/NUTS

Y

21.500
CUTLENGTH

L

CUTLENGTH

L

ox6 ANGLE DIAGRAM:
(OPENING HEIGHT >96 %" & <144 ")

2k S v

21.500
CUTLENGTH

21.500
CUTLENGTH

4ksi: J4” TAPCONS
(ANY 9 IN ROWS 1,2,&4)

A AIROLITE

The look that works.™
P.O. Box 410, 525 Western Road, Schofield, Wl 54476-0410 USA

As a result of our commitment to continuous
improvement, Airolite reserves the right to change
specifications without notice.

715.841.8757 » fax 715.841.8773 » www.airolite.com

Elll 474789 « SCH601MD Channel Installation with Damper, Rev. 3, 12-18

Copyright 2018 © The Airolite Company LLC



